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ga 2@ s g5 | 32 | dsh | 25 ol s e | 2or e | 2T o
712 | =9 =0 35 X8 8 4 8
712 | =9 25 Uut ks 5 4
712 | =9 O 2 A| Uut ks 5 4 4
712 | =9 SHHIEE Uut X8 5 3 3
712 | =9 =M Ut ks 5 3 3
7| | =gt =g} 35 X 8 4 4 8
7| | =gt =8t 1 ut Wk 5 5 5
U 3 Uut ks 5 5 5
U SENEA Uut MM EH1 1 5 3 3 6
7|z | gt alpS Uut A EH1 1 5 3 3 6
7= | =% 7|5t T2 A= 1 5 3 3 6
712 | g9 A0 35 kS| 8 3 3 6
712 | g9 Ao 1 ut Wk 5 5 5
712 | g9 gojn ut Wk 5 5 5
712 | g9 GO SSHAEE Ut ks 5 3 3 6
712 | =9 ksl NES MEHD 2 5 4 4
7|z | gt =St tA| B NES MEeHD 2 5 4 4
712 | g9 0|25l 7| NES MEeHD 2 5 4 4
712 | =9 Mal=0] WNES MEH3 2 5 4 4
MR | e TZFEET1) MEH3 2 5 4 4
712 | g9 G| HES} WNES MEH3 2 5 4 4
7| | st=AL ShAL 35 Wk 6 3 3 6
B | A SAZ| & ks 8 3 3 6
B | s St & ks 8 4 4 8
B | s I & ks 2 1 1 2
B | AR EeNE] Uut MEHq 3 5 3 3 6
E$E | A SOFA|OFAL uit MEH4 3 5 3 3 6
E$E | A HX | uit MEH4 3 5 3 3 6
E$E | A S2|QAHA uit MEH4 3 5 3 3 6
Bt | Ire =281 bt MEH4 3 5 3 3 6
B | s stet1 Uut MEHA 3 5 3 3 6
B | e Agarst 1 Uut MEl4 3 5 3 3 6
B | e X|aret 1 Uut MEHA 3 5 3 3 6
B | AR MAX|2| Uut MEHS 2 5 3 3 6
ERa R MNIAA uit MEl5 2 5 3 3 6
ERa IR ALz 23t uit MEl5 2 5 3 3 6
ERa IR M=k e uit MEl5 2 5 3 3 6
B | s =2/ NS MEH5 2 5 3 3 6
B | e stetn NS MEH5 2 5 3 3 6
Bt | Ire MEarstn Xz S 2 5 3 3 6
Bt | Ire X|Fareto Xz S 2 5 3 3 6
B | AtE SEWNE T2 MEH6 1 5 3 3 6
B | AtE Ats| 2H B T2 MEH6 1 5 3 3 6
B | s Mettapst NES MEHG 1 5 3 3 6
B | e sgatst NES MEHG 1 5 3 3 6
Hs-olg Hs NS Uut ks 5 2 2 4
KHs-ols HS AmAME =z X8 5 1 1 2
Hs-ols NS 2s0HE uit S| 5 2 2 4
H<S-ols o= =< uit S| 5 2 2 1 5
H<S-ols o= Os ut S| 5 2 2 1 5
A=k k7| & 74 7|17+ ut S| 5 2 2 4
At |22 =0 A=0{1 Uut MEHT 1 5 3 3 6
A=t |22 =0f 3301 Uut MEHT 1 5 3 3 6
M=kl ol SR T Uut ks 5 2 2 4
A meF == il g 5 2 2 4

st7|H wa} o|=THe| 180 30 30 30 30 30 30 180

=3 (S5 n8uPy, A M I2FHSkN 1Py 115)

7|8 Ho|MAIHES O|5-THel 24 4 4 4 4 4 4 24




